the 783 2+ AABC Oﬂﬁ
7t FolHE o, oS 5

A=7] 9o o 2 gtz
D ¢A @ ¢/C
@ ¢ ® be




ofx

® AB, B




221593 3 b0 Go] AL Lehd 4R TG A%}
gléwlo] o)A gkt 60 4 MIEre] shgol WA o) 10% et &
, 60 4 o 70 4 mlEre] S S

8) /
12 Er
10 VA
8 M
s \l
4 ]
o4 L
el AN
07150 170 T 90 1(A)

40 60 80 100



ZF

ol 24 A

of shy 57} 20 A1z
wl, 16 417+ 014 20 4]

2k

Bl
=K

s

16 A1ZF o]4 20 Al

H

el

94

iy

o]

s

ke1g
=

=1y
o

R 7 Y

[t}
J

[s13
ol

9
A
2

_—
B RO
—
jm __Oﬁ

(A7)

»

24

16

I N\

8

&)

12
10

0

12 20 28

4

® 119 ® 129 @ 139 ® 149

D 109



5.

oS 190 AR ghEolA = 975 7
39

@ 40mcm? @ 427 cm?

® 44rcm?® @ 467 cm?®

3 487 cm?

O

~

10cm

~~4rem-”

O




I8 22 ANER ghEo|2]l= ¢ O

19l T~-12rcm- "~
\

@ 1447 cm? @ 1087 cm? Q
® 4327 cm? @ 386mcm?



@ 24ncm®

@ 48rcm3

.
N
/1
o U

@ 36mcm?

3 50rcm3

c
N,
ol
lo
e
4
Eid
filo
)
i)
e
o
i—l‘.
H
ol

(o]

Iot. o] YA =<

@ 44ncm?



ohe a7e 97159 QREoltt. o A= o] Hu
1 N2 cm
| \
| ¥
T
| \
| \
I \
: 10cm
I"\\ 1
/ I
/ \\//
4 ey

@ 28rcm? @ 36mcm? @ 40mcm?

@ 487cm? ® 56mcm?



ohe Tt o] Welo] 9x| 59| ol Gom
0|7k gom 1 P2 mofe] T5o] 15 o]e]
S 7M1 Bol B 9lek. o] o, 132l mem® 4
2o gy 128 98 A kA 2 B
ol & A7}

T

D 128 @ 208 ® g

T

@ 26E G 278

-



10.

7F127em3 & W, 9]
o5 FotH?

@D lem @ 2cm 3 3cm




